85.6x0.4

M7%0,75MM

——4.810.2

L—@3.95i0.8

i

L 8145
o)} @ S S« B16mm
o “0,@
}_ $8.2
4 Z / #8.2
NUT:M7%0,75,T=2mm WASHER
2, h&fr: RMBEARE/ R,
NOTES: 1, 3 b FiEsh R, ERENS.
9 | WASHER @14.5*8.2 STEEL Zn-PLATE 2 | g
8 WASHER @16*8.2 STEEL Zn-PLATE 2 | #m3
7 NUT M7+0.75 t=2mm STEEL Zn-PLATE 2 | ws
6 | PLASTIC @4.7*7.3 PLASTIC WHITE 1 ik
5 | TERMINAL @3.95 STEEL NICKEL-PLATE| 1 mF
4 SPRING @3.8 STEEL Zn-PLATE 1 ME
3 SCREW M7*0.75 ,L=25mm CUPRUM YELLOW 1 YA
2 | CONDUIT @45 CUPRUM [NICKEL-PLATE| 1 -2
1 SHAFT STEEL NICKEL-PLATE| 1 At
NO. | NAME SPEC. MATERIAL | PLATING | QTY| NOTE
PROJ | @y =1 | SHEET 1 OF 1
| mm A A 1.0
KA AL | 2011 -3 11
2 e 22| A4
o Bescmon PIN SWITCH:P-6




